
..

1 

 

 
 

NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

CHEMISTRY FULL PORTION CLASS 12th (10.01.2025)  45x4=180 MARKS 

 

1. Which of the following is correct about a non ideal 

solution showing positive deviation? 

1) Vapour pressure observed will be less than 

that calculated from Raoult’s Law 

2) Minimum boiling azeotrope will be formed 

3) ∆Hmix < 0 

4) ∆Vmix < 0 

 

2. Assuming complete ionization, the solution 

having maximum freezing point will be 

1) 1M CaCl2 

2) 1.5M Al2(SO4)3 

3) 2M KCl 

4) 1M AgNO3 

 

3. The osmotic pressure of 0.1M NaCl solution at 

27oC is 

1) 4 atm 

2) 2.46 atm 

3) 4.92 atm 

4) 1.23 atm 

 

4. In the phenomenon of osmosis through the 

semipermeable membrane 

1) solvent molecules pass from solution to 

solvent 

2) solvent molecules pass from solvent to 

solution 

3) solute molecules pass from solution to solvent 

4) solute molecules pass from solvent to solution 

 

5. Liquids A (PA
°  = 360 mm Hg) and B (PB

°  = 320 mm 

Hg) are mixed. If solution has vapour pressure 

340mm Hg. Then mole fraction of B in the 

solution will be 

1) 33/34 

2) 1/34 

3) ½ 

4) 1/4 

 

6. For the cell reaction, Kc is 1010, 

 Cu(s) + 2Ag+
(aq) → Cu2+

(aq) + 2Ag(s)  

Find E°cell 

1) 0.295 V 

2) 0.59 V 

3) 0.0591 V 

4) 0.0295 V 

1. Neu;kpd; tpyfiyf; fhl;Lk; ,ay;G fiurypy; 
gpd;tUtdtw;wpy; vJ rupahdJ? 
1) ftdpf;fg;gl;l ePuhtp mOj;jk; nusy;l;bd; 

tpjpapypUe;J fzf;fplg;gl;lij tpl 
Fiwthf ,Uf;Fk; 

2) Fiwe;jgl;r nfhjpf;Fk; nfhjpepiy khwpyp 
cUthFk; 

3) ∆Hmix < 0 

4) ∆Vmix < 0 
 

2. KOikahd madpahf;fk; vd;W itj;Jf; 
nfhz;lhy;> mjpfgl;r ciwepiyg; Gs;spiaf; 
nfhz;l fiury; 
1) 1M CaCl2 

2) 1.5M Al2(SO4)3 

3) 2M KCl 

4) 1M AgNO3 
 

3. 27oC ,y; 0.1M NaCl fiurypd; rt;T+L mOj;jk; 
1) 4 atm 

2) 2.46 atm 

3) 4.92 atm 

4) 1.23 atm 
 

4. miu CLUtf;$ba rt;T topahf rt;T+Lguty; 
epfo;tpy; 
1) fiug;ghd; %yf;$Wfs; fiurypy; ,Ue;J 

fiug;ghd; tiu nry;fpd;wd 

2) fiug;ghd; %yf;$Wfs; fiug;ghdpy; ,Ue;J 
fiurYf;F nry;fpd;wd 

3) fiunghUs; %yf;$Wfs; fiurypy; ,Ue;J 
fiug;ghd; tiu nry;fpd;wd 

4) fiunghUs; %yf;$Wfs; fiug;ghdpy; 
,Ue;J fiurYf;F nry;fpd;wd 

 

5. jputq;fs; A (PA
°  = 360 mm Hg) kw;Wk; B (PB

°  = 

320 mm Hg) Mfpait fyf;fg;gLfpd;wd. 

fiurypy; ePuhtp mOj;jk; 340mm Hg ,Ue;jhy;. 
fiurypy; B ,d; Nkhy; gpd;dk; 
1) 33/34 

2) 1/34 

3) ½ 

4) 1/4 
 

6. nry; tpidf;F, Kc is 1010, 

  Cu(s) + 2Ag+
(aq) → Cu2+

(aq) + 2Ag(s)  

E°cell fz;Lgpb 

11) 0.295 V 

2) 0.59 V 

3) 0.0591 V 

4) 0.0295 V 
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7. What is the standard cell potential Eº for an 

electrochemical cell in which the following 

reaction takes place spontaneously? 

Cl2(g) + 2Br⁻(aq) → Br2 + 2Cl¯(aq) ; ∆Gº = –50.61 

kJ 

1) 1.2 V 

2) 0.53 V 

3) 0.26 V 

4) –0.53 V 

 

8. Calculate ΛHOAC
∝  in (S cm2 mol–1) using 

appropriate molar conductance’s of the 

electrolytes listed below at infinite dilution in 

H2O at 25ºC 

Electrolyte KCl KNO

3 

HCl NaOA

C 

NaCl 

Λ(Scm2mol−1)
∝  149.

9 

145 426.

2 

91 126.

5 

1) 217.5 

2) 390.7 

3) 552.7 

4) 517.2 

 

9. The value of reaction quotient (Q) for the cell  

Zn(S) | Zn+2 (0.01M) || Ag+ (0.01M) | Ag(s) is 

1) 1 

2) 102 

3) 10–2 

4) 0.1 

 

10. Which of the following will form a cell with 

highest voltage? 

1) 1M Zn+2, 1M Cu+2 

2) 2M Zn+2, 2M Cu+2 

3) 0.1M Zn+2, 2M Cu+2 

4) 2M Zn+2, 0.1M Cu+2 

 

11. The rate constant of a first order reaction whose 

half life is 480 seconds is 

1) 2.88 x 10–3 s–1 

2) 3 x 10–3 s–1 

3) 1.44 x 10–3 s–1 

4) 1.44 s–1 

 

12. Which of the following expressions is correct for 

the rate of reaction given below? 

5Br⁻ + BrO3
− + 6H+ → 3Br2 + 3H2O 

1) 
Δ[Br−]

Δt
= 5

Δ[H+]

Δt
 

2) 
Δ[Br−]

Δt
=
6

5

Δ[H+]

Δt
 

3) 
Δ[Br−]

Δt
=
5

6

Δ[H+]

Δt
 

4) 
Δ[Br−]

Δt
= 6

Δ[H+]

Δt
 

 

 

7. gpd;tUk; tpid jd;dpr;irahf epfOk; xU 
kpd;Ntjpapay; fyj;jpw;fhd epiyahd nry; 
jpwd; Eº vd;d? 
Cl2(g) + 2Br⁻(aq) → Br2 + 2Cl¯(aq) ; ∆Gº = –50.61 

kJ 

1) 1.2 V 

2) 0.53 V 

3) 0.26 V 

4) –0.53 V 

 

8. H2O ,y; 25ºC ,y; vy;iyaw;w 
ePu;j;Jg;NghFk;NghJ fPNo gl;bayplg;gl;Ls;s 
kpd;gFspfspd; nghUj;jkhd Nkhyhu; 
flj;Jj;jpwidg; gad;gLj;jp (S cm2 mol–1) ,y; 
ΛHOAC
∝  fzf;fplTk;. 

kpd;gFsp KCl KNO

3 

HCl NaOA

C 

NaCl 

Λ(Scm2mol−1)
∝  149.

9 

145 426.

2 

91 126.

5 

1) 217.5 

2) 390.7 

3) 552.7 

4) 517.2 

 

9. fyj;jpw;fhd tpidf; Fzfj;jpd; (Q) kjpg;G 

Zn(S) | Zn+2 (0.01M) || Ag+ (0.01M) | Ag(s) is 

1) 1 

2) 102 

3) 10–2 

4) 0.1 

 

10. gpd;tUtdtw;wpy; vJ mjpf kpd;dOj;jk; 
nfhz;l fyj;ij cUthf;Fk;? 
1) 1M Zn+2, 1M Cu+2 

2) 2M Zn+2, 2M Cu+2 

3) 0.1M Zn+2, 2M Cu+2 

4) 2M Zn+2, 0.1M Cu+2 

 

11. 480 tpdhbfs; miu MAl;fhyk; nfhz;l Kjy; 
tifapd; tpfpj khwpyp 
1) 2.88 x 10–3 s–1 

2) 3 x 10–3 s–1 

3) 1.44 x 10–3 s–1 

4) 1.44 s–1 

 

12. fPNo nfhLf;fg;gl;Ls;s tpid tpfpjj;jpw;F 
gpd;tUk; ntspg;ghLfspy; vJ rupahdJ? 
5Br⁻ + BrO3

− + 6H+ → 3Br2 + 3H2O 

1) 
Δ[Br−]

Δt
= 5

Δ[H+]

Δt
 

2) 
Δ[Br−]

Δt
=
6

5

Δ[H+]

Δt
 

3) 
Δ[Br−]

Δt
=
5

6

Δ[H+]

Δt
 

4) 
Δ[Br−]

Δt
= 6

Δ[H+]

Δt
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13. The initial rates of reaction 3A + 2B + C → 

products, at different initial concentrations are 

given below 

Initial rate [A] [B] [C] 

[MS–1] (M) (M) (M) 

5 x 10–3 0.01 0.005 0.01 

5 x 10–3 0.01 0.005 0.015 

1 x 10–2 0.01 0.01 0.01 

1.25 x 10–3 0.005 0.005 0.01 

The order with respect to the reactants A and C 

respectively are 

1) 3, 0 

2) 3, 1 

3) 2, 1 

4) 2, 0 

 

14. The IUPAC name of the compound CH2 = CH – 

CH2 – Br 

1) Allyl bromide 

2) 1–Bromoprop–2–ene 

3) 1–Bromoprop–3–ene 

4) 3–Bromoprop–1–ene 

 

15. 

 
Alc. KOH

         Δ         ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 A 
HBr

R2O2⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   B(Major). ‘B’ is 

1)  

2)  

3)  

1) Vitamin B12 

2) Vitamin B6 

3) Vitamin B2 

4) Vitamin B1 

 

 

13. tpidapd; Muk;g tpfpjq;fs; 3A + 2B + C → 
tpisnghUs;fs;> ntt;NtW Muk;g 
nrwpTfspy; fPNo nfhLf;fg;gl;Ls;sd 

Muk;g 
tpfpjk; 

[A] [B] [C] 

[MS–1] (M) (M) (M) 

5 x 10–3 0.01 0.005 0.01 

5 x 10–3 0.01 0.005 0.015 

1 x 10–2 0.01 0.01 0.01 

1.25 x 10–3 0.005 0.005 0.01 

A kw;Wk; C tpidfs; KiwNa tupir 

1) 3, 0 

2) 3, 1 

3) 2, 1 

4) 2, 0 

 

14. Nru;kj;jpd; IUPAC ngau; CH2 = CH – CH2 – Br 

1) my;iyy; GNuhikL 
2) 1–GNuhNkhGug;–2–<d; 
3) 1–GNuhNkhGug;;–3–<d; 
4) 3–GNuhNkhGug;;–1–<d; 

 

15. 

 
Alc. KOH

         Δ         ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
A 
HBr

R2O2⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   B(Major). ‘B’ is 

1)  

2)  

3)  

Vw;gLfpwJ? 
1) itl;lkpd; B12 

2) itl;lkpd; B6 

3) itl;lkpd; B2 

4) itl;lkpd; B1 

 
  

4)

  

 

16. Deficiency of which vitamin causes convulsions? 

4)

  

 

16. ve;j itl;lkpd; Fiwghl;lhy; typg;G 
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17. C2H2 
Red Hot

Iron tube 873K⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 A 
CH3Cl

   AlCl3⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 B 
CrO2Cl2

  H3O+  ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗  C. 

Product C in the above reaction is 
1)  

2)  

3)  

4)  

 

18. Statement-I: Aniline is not prepared by Gabriel 

phthalimide synthesis 

Statement-II: Partial double bond character 

between C and halogen in haloarene arises 

because of resonance 

1) Statement I is correct, statement II is wrong 

2) Statement I is wrong, statement II is correct 

3) Both statements I and II are correct 

4) Both statements I and II are wrong 
 

19. Match the following 

A) XeF2  P) Square planar 

B) XeF4  Q) Octahedron 

C) XeF6  R) Linear 

D) XeO3  S) Pyramidal 

 T) Distorted octahedron 

1) A–R, B–P, C–T, D–S 

2) A–R, B–S, C–Q, D–P 

3) A–Q, B–T, C–P, D–R 

4) A–T, B–R, C–S, D–Q 
 

20. Which of the following reaction will produce N2 

gas? 

1) (NH4)2Cr2O7 
∆
→ 

2) Ba(N3)2 
∆
→ 

3) Pb(NO3)2 
673 K
→    

4) Both (1) and (2) 
 

21. Which of the following enzymes, converts 

glucose to alcohol? 

1) Zymase 

2) Maltase 

3) Diastase 

4) Invertase 

17. C2H2 
Red Hot

Iron tube 873K⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 A 
CH3Cl

   AlCl3⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 B 
CrO2Cl2

  H3O+  ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗C. 

NkNy cs;s tpidapy; tpisnghUs; C 
1)  

2)  

3)  

%yk; jahupf;fg;gltpy;iy 

$w;W-II: cldpirT fhuzkhf `hNyhmuPdpy; 
C kw;Wk; `hy[Df;F ,ilNa gFjp ,ul;ilg; 
gpizg;G jd;ik vOfpwJ 

1) $w;W I rup> $w;W II jtW 

2) $w;W I jtW> $w;W II rupahdJ 

3) I kw;Wk; II ,uz;L $w;WfSk; rupahdit 

4) I kw;Wk; II ,uz;L $w;WfSk; jtwhdit 

 

19. gpd;tUtdtw;iwg; nghUj;jTk; 
A) XeF2  P) rJurkjsk; 
B) XeF4  Q) vz;Kftbtk; 
C) XeF6  R) Neh;NfhL 

D) XeO3  S) gpukpL 

 T) rpije;j vz;Kfk; 
1) A–R, B–P, C–T, D–S 

2) A–R, B–S, C–Q, D–P 

3) A–Q, B–T, C–P, D–R 

4) A–T, B–R, C–S, D–Q 

 

20. gpd;tUk; ve;j tpid N2 thAit cUthf;Fk;? 

1) (NH4)2Cr2O7 
∆
→ 

2) Ba(N3)2 
∆
→ 

3) Pb(NO3)2 
673 K
→    

4) ,uz;Lk; (1) kw;Wk; (2) 

 

21. gpd;tUk; nehjpfspy; vJ FSf;Nfhi] 
My;f`hyhf khw;WfpwJ? 
1) irNk]; 
2) khy;Nl]; 
3) la];Nl]; 
4) ,d;tHNl]; 

  

4)

  

 

18. $w;W-I: mdpypd; Nfg;upay; jhypikL njhFg;G 
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22. 

  
End product (B) in above reaction is 

1)  

2)  

3)  

4)  

 

23. 
KOH
  aq   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ 

  A  
PhCH2Br

      aq      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
  B 
(RNH)2

Ethanol ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 PhCH2NH2 + C. 

Compound C is 

1)  

2)  

3)  

4)  

22. 

1)  

2)  

3)  

4)  

 

23. 
KOH
  aq   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ 

  A  
PhCH2Br

      aq      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
  B 
(RNH)2

Ethanol ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 PhCH2NH2 + C. 

fyit C vd;gJ 
1)  

2)  

3)  

4)  

 

  

  
NkNyAs;s tpidapd; ,Wjp tpisnghUs; (B) 
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24. CH3 – CH = CH – CH2 – OH 
 CrO3+HCl+C5H5N 
→               A. 

Product (A) is 

1) CH3 – CH = CH – COOH 

2) CH3 – CH = CH – CH2 – OCH3 

3) CH3 – CH = CH – CHO 

4) HOOC – CH = CH – COOH 

 

25. The acid which does not give isopentane on 

decarboxylation with soda lime, is 

1)  

2)  

3)  

MnO2 
I
→ MnO4

2− 
II
→ MnO4

−. I and II respectively 

1) Fuse with KOH/air, electrolytic oxidation 

2) Fuse with KOH/air, electrolytic reduction 

3) Fuse with cone. HNO3/air, electrolytic 

reduction 

4) Fuse with cone. H2SO4/air, electrolytic 

complexes [Fe(CN)6]
4–, [Ni(CN)4]

2– and 

[Ni(CO)4] 

1) All have identical geometry 

2) All are heteroleptic complex 

3) All are diamagnetic 

4) All obey EAN rule 

 

28. Arrange the following aq. dilute solution in the 

increasing order of vapour pressure 

(a) 10% (w/v) glucose 

(b) 10% (w/v) sucrose 

(c) 10% (w/v) urea 

1) (a) < (b) < (c) 

2) (a) < (c) < (b) 

3) (c) < (b) < (a) 

4) (c) < (a) < (b) 

24. CH3 – CH = CH – CH2 – OH 
CrO3+HCl+C5H5N 
→              A. 

tpisnghUs; (A) 

1) CH3 – CH = CH – COOH 

2) CH3 – CH = CH – CH2 – OCH3 

3) CH3 – CH = CH – CHO 

4) HOOC – CH = CH – COOH 

 

25. Nrhlh Rz;zhk;Gld; fhu;ghf;rpy; ePf;fj;jpd; 
NghJ INrhngd;Nld; nfhLf;fhj mkpyk; 

1)  

2)  

3)  

4)  

 

26. KMnO4 I MnO2 
I
→ MnO4

2−  
II
→ MnO4

− Mf 

jahupf;f igNuhY}irl; (MnO2) 

gad;gLj;jg;gLfpwJ. I kw;Wk; II KiwNa 

1) KOH/fhw;Wld; cUfp> kpd;dhw; 
Mf;rp[Ndw;wk; 

2)KOH/fhw;Wld; cUfp> kpd;dhw; Mf;rp[d; 
xLf;fk; 

3) $k;Gld; cUfp. HNO3/fhw;W> kpd;dhw; 
Mf;rp[d; xLf;fk; 

4) $k;Gld; cUfp H2SO4 / fhw;W> kpd;dhw; 
Mf;rp[Ndw;wk; 

 

27. nfhLf;fg;gl;l fyg;GfSf;fhd rupahd 

$w;iwj; Nju;e;njLf;f. [Fe(CN)6]
4–, [Ni(CN)4]

2– 

and [Ni(CO)4] 

1) midj;Jk; xNu khjpupahd tbttpaiyf; 
nfhz;Ls;sd 

2) midj;Jk; NtWgl;l <dpfs; nfhz;lit 

3) midj;Jk; lahfhe;jj;; jd;ik nfhz;lit 

4) midj;Jk; EAN tpjpf;Ff; fPo;g;gbfpd;wd 

 

28. gpd;tUk; aq. ePh;j;j fiury;fis> ePuhtp 
mOj;jk; mjpfupf;Fk; tupirapy; mLf;Ff 

(a) 10% (w/v) FSf;Nfh]; 
(b) 10% (w/v) Rf;Nuh]; 
(c) 10% (w/v) A+upah 
1) (a) < (b) < (c) 

2) (a) < (c) < (b) 

3) (c) < (b) < (a) 

4) (c) < (a) < (b) 

 

  

4)  

 

26. Pyrolusite (MnO2) is used to prepare KMnO4 as 

oxidation 

 

27. Select the correct statement for the given 
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29. Select the reaction, in which the product obtained 

contains o, p–directing group 

1)   
conc. HNO3

  conc. H2SO4   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 

2)  
CH3COCl

  anhyd. AlCl3   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 

3)  
CO + HCl

  anhyd. ZnCl2   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   

4)  
(CH3)3C − COCl

      anhyd. AlCl3      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 

 

30. Facial and meridional isomerism is exhibited by 

which type of the following complex? 

1) Ma4b2 

2) Ma3b3 

3) M(AA)3 

4) M(AB)3 

 

31. The compound which reacts with ozone very 

rapidly to liberate oxygen is 

1) NO 

2) CO2 

3) NO2 

4) SO3 

 

32. Conductivity of 0.15 M KCl solution is 1.65 S 

cm–1 at a certain temperature. Its molar 

conductivity (in S m2 mol–1) will be 

1) 1.4 

2) 1.1 

3) 1.15 

4) 1.65 

 

33. Identify the incorrect statement 

1) A catalyst never appears in the rate law 

equation of the reaction 

2) A catalyst cannot cause a non–spontaneous 

reaction to proceed 

3) A catalyst remains chemically unchanged but 

may change physically at the end of a reaction 

4) A catalyst do not effect the composition of an 

equilibrium mixture 

29. ngwg;gl;l tpisnghUs; o, p–topelj;Jk; 
njhFjpiaf; nfhz;Ls;s tpidiaj; 
Nju;e;njLf;fTk;. 

1)   
conc. HNO3

  conc. H2SO4   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 

2)  
CH3COCl

  anhyd. AlCl3   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 

3)  
CO + HCl

  anhyd. ZnCl2   ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   

4)  
(CH3)3C − COCl

      anhyd. AlCl3      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗
 

 

30. xUKf khw;wpak; kw;Wk; neLtiu 
khw;wpaq;fs;; gpd;tUk; ve;j tif mikg;gpy; 
ntspg;gLj;jg;gLfpwJ? 
1) Ma4b2 

2) Ma3b3 

3) M(AA)3 

4) M(AB)3 
 

31. Mf;]p[id tpLtpf;f XNrhDld; kpf Ntfkhf 
tpidGupAk; fyit 

1) NO 

2) CO2 

3) NO2 

4) SO3 
 

32. 0.15 M KCl fiurypd; flj;Jj;jpwd; xU 

Fwpg;gpl;l ntg;gepiyapy; 1.65 S cm–1 MFk;. 
mjd; Nkhyhu; flj;Jj;jpwd; (S S m2 mol–1 ,y;) 
,t;thwhf ,Uf;Fk; 
1) 1.4 

2) 1.1 

3) 1.15 

4) 1.65 
 

33. jtwhd $w;iw milahsk; fhz; 
1) tpidapd; tpfpjr; rkd;ghl;by; xU 

tpidA+f;fp Njhd;whJ 

2) xU tpidA+f;fp jd;dpr;irahd tpidiaj; 
njhlu KbahJ 

3) xU tpidA+f;fp Ntjpapay; uPjpahf khwhky; 
cs;sJ> Mdhy; tpidapd; Kbtpy; 
,aw;gpay; uPjpahf khwyhk; 

4) xU tpidA+f;fp xU rkepiy fyitapd; 
fyitia ghjpf;fhJ 
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34. If the freezing point of 0.1 M aq. BOH solution 

is –0.2046°C, then the pH of solution is (Kf for 

water = 1.86 K.kg mol–1 and assume molarity = 

molality) 

1) 13 

2) 12 

3) 12.7 

4) 12.3 

 

35. For electrolytic conductance, incorrect statement 

is 

1) Lesser is the viscosity of the solvent, greater 

is the conductance 

2) Specific conductance decreases on dilution 

3) Greater the ionic size, higher is the radii of 

hydrated ion and lower is the conductance 

4) Electrolytic conductance increases on 

increasing temperature 

 

36. If 3 mol of A(P°A = 800mmHg) is mixed with 2 

mol of B (PºB = 500 mm Hg) then mole fraction 

of A in vapour will be 

1) 0.7 

2) 0.2 

3) 0.3 

4) 0.4 

 

37. Reduction potential of hydrogen electrode at pH2 

= 10 atm and [H+] = 10–2 M will be 

1) – 0.1 V 

2) – 0.2 V 

3) – 1.5 V 

4) – 0.15 V 

 

38. Element of most positive value of EM3+/M2+
°

 

among the following is 

1) Ti 

2) V 

3) Mn 

4) Co 

 

39. Aqueous solution of which ion is pink in colour 

1) Cr2+ 

2) Cu2+ 

3) Mn2+ 

4) V4+ 

 

40. Correct outer electronic configuration of 

trivalent cationic form of Er (Erbium, atomic 

number is 68) 

1) 4f10 

2) 4f11 

3) 4f105d1 

4) 4A95d16s1 

 

34. 0.1 M aq. BOH fiurypd; ciwepiy Gs;sp –
0.2046°C> Mf ,Ue;jhy;> fiurypd; pH 

(jz;zPUf;fhd Kf = 1.86 K.kg mol–1  kw;Wk; 
Nkhyhupl;b = Nkhyhypl;b vd;W 

itj;Jf;nfhs;Nthk;) 
1) 13 

2) 12 

3) 12.7 

4) 12.3 
 

35. kpd;gFsp flj;J jpwDf;fhd> jtwhd $w;W 

1) fiug;ghdpd; ghFepiy Fiwthf cs;sJ> 
flj;Jj;jpwd; mjpfkhf cs;sJ 

2) ePu;j;Jg;NghFk;NghJ epak flj;Jj;jpwd; 
FiwfpwJ 

3) madp msT mjpfkhf cs;sJ> ePNuw;w 
madpapd; Muq;fs; mjpfkhfTk;> 
flj;Jj;jpwd; FiwthfTk; ,Uf;Fk; 

4) ntg;gepiy mjpfupf;Fk; NghJ kpd;gFsp 
flj;Jj;jpwd; mjpfupf;fpwJ 

 

36. 3 mol A(P°A = 800mmHg) 2 mol B(PºB = 500 

mm Hg) cld; fye;jhy;> Mtpapy; A ,d; Nkhy; 
gpd;dk; 
1) 0.7 

2) 0.2 

3) 0.3 

4) 0.4 
 

37. pH2 = 10 atm kw;Wk; [H+] = 10–2 M ,y; 
i`l;u[d; kpd;Kidapd; xLf;f jpwd; 
1) – 0.1 V 

2) – 0.2 V 

3) – 1.5 V 

4) – 0.15 V 
 

38. gpd;tUtdtw;wpy; EM3+/M2+
°

 ,d; kpfTk; 
Neu;kiw kjpg;G nfhz;l jdpkk; 
1) Ti 

2) V 

3) Mn 

4) Co 
 

39. ,sQ;rptg;G epwj;jpy; ,Uf;Fk; ePh; fiury; 
nfhz;l madp 
1) Cr2+ 

2) Cu2+ 

3) Mn2+ 

4) V4+ 
 

40. Er-d; (vu;gpak;> mZ vz; 68) %tpizjpw 
Neh;madp tbtj;jpd; rupahd ntspf;$l;L 
vyf;l;uhd; mikg;G 

1) 4f10 

2) 4f11 

3) 4f105d1 

4) 4A95d16s1 
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41. Consider the following reactions. 

 
Major products A and B respectively are 

1)  

2)  

3)  

4)  

 

42. Electrophile involved in Reimer–Tiemann 

reaction for the preparation of salicylaldehyde is 

1) ⊕CHCl2 

2) ⊕CCl2 

3) :CCl3 

4) ⊕CH2Cl 

 

43. Consider the following reactions 

 
SOCl2 
→   A  

Mg

 dry ether ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗  B 
D2O 
→   C(Major). 

Major product C is 

3)  

reagent is 

1) Hexane 

2) Acetone 

3) Methanol 

4) Diethyl ether 

 

45. The given reaction is called 

 
1) Wurtz reaction 

2) Fittig reaction 

3) Wurtz–Fittig reaction 

4) Swarts reaction 
 

41. gpd;tUk; tpidfisf; ftdpAq;fs;. 

  
Kf;fpa tpisnghUs;fs; A kw;Wk; B KiwNa 

1)  

2)  

3)  

tpidapy; <LgLk; vyf;l;uhd; fhuzp 
1) ⊕CHCl2 

2) ⊕CCl2 

3) :CCl3 

4) ⊕CH2Cl 

 

43. gpd;tUk; tpidfisf; ftdpAq;fs; 

 
SOCl2 
→   A  

Mg

 dry ether ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗  B 
D2O 
→   C(Major). 

Kf;fpa tpisnghUs; C is 

3)  

4)  

 

44. fpupf;dhu;l; fhuzp jahupf;fg; gad;gLk; 
fiug;ghd; 
1) n`f;N]d; 
2) mrpl;Nlhd; 
3) nkj;jdhy; 
4) ilvj;jpy; <ju; 

 

45. nfhLf;fg;gl;l tpid ,t;thW 
miof;fg;gLfpwJ 

 
1) cu;l;]; tpid 
2) /gpl;bf; tpid 

3) cu;l;];-/gpl;bf; tpid 
4) ];thu;l;]; tpid 

 
 

4)  

 

42. rhyprpyhy;bi`L jahupg;gjw;fhd uPku;-Bkd; 

1)

2)  

4)  

 

44. Solvent used for the preparation of Grignard 

1)

2)  
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